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(@) Prepare the Cash Budget for each of the three months January to March 2018.
The budget should be in columnar format and all calculations made to the
nearest $.

(12)
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(i) labour efficiency
(3)
(iv) labour rate.
(2)
(b) Explain one possible reason for:
(i) an adverse material usage variance
(2)
(i) afavourable labour rate variance.
(2)
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(d)| Calculate|the budgeted cost of produgtion for the 26 800 units produced|in




(d) Prepare the Cost Reconciliation Statement using the variances for October 2017.
(4)

COST RECONCILIATION STATEMENT

Budgeted cost for actual production

Variances Favourable | Adverse

Direct materials usage

"DONOTWRITEINTHISAREA = = =

Direct materials price

Direct labour efficiency

Direct labour rate

Fixed overhead expenditure

Total variance

Actual cost of actual production

(Total for Question 2 = 20 marks)
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i r \
S5 Due to increased competition, Seymour Ltd believes that the selling price will need to
s be reduced by $1.50 per unit.

L 8 =4
o &= (d) Prepare a profit-volume (PV) chart, for output from 0 to 25000 units, that shows

g < the following:
= -4
g s Sk + axes correctly labelled and scaled
- Z
E : E «  profit volume line at the original price plotted and labelled
2 —

‘ E _ g «  profit volume line at the new price plotted and labelled
% =
g g - original break-even point identified
= 8 « new break-even point identified.

: (7)
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N
Howard has just started to manufacture Product T during October 2017, using a
separate process. The results for October 2017 were as follows:
Completed output 5000 units
Work-in-progress 3500 units
The work-in-progress was assessed as being 80% complete in terms of material inputs
and 50% complete in terms of labour and overheads.
The costs for October 2017 were $34 710 for materials and $21 600 for labour and
overheads.
(d) Calculate the cost of:
« completed output for October 2017
« work-in-progress at the end of October 2017.
(6)
(Total for Question 4 = 22 marks)
y,
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(a) Calculate the following for October 2017:
+ selling price per unit
+ cost per unit using marginal costing

« cost per unit using absorption costing.
(6)

The company has been approached by a new overseas customer who is willing to
purchase 9000 units per month at a price of $16.20 per unit.

This would be in addition to the 50000 units currently being produced and sold.

(b) Calculate the total profit or loss per month that Parr Ltd would make if the offer
from the new overseas customer to buy 9000 units per month was accepted.
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5555 (d) Evaluate whether Parr Ltd should continue producing and selling the product in
358 : the:

(i) shortterm

(2)

(i) long term.
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(2)

(e) Explain why rent might not be regarded as a fixed cost.
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(Total for Question 5 = 24 marks)

TOTAL FOR PAPER = 100 MARKS
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